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Q.i 729 1 T TE FIISTRTE UTRR 39 1 WETd fAfen ® o <t fa Fe. 4

If the product of all divisors of 729 is written in the form of 32, find value of a. ’
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Q2  xy(x—y)= 45045ﬁmwmxmymﬁqﬁammmm?wmﬁ 4
TR T .
Do there exist natural numbers x, y such that xy (x—y) =45045? J ustlfy your answer.
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Rough Work /= &m



Q.3 =1, 2=2x1, 3=8xX2x 1, 4d=4x3 x2x 1,

SRN=U+201+81+41+........ 15! & N & qof srfeen 41 ® graan. -
'=1,21=2x%x1, 3'=3%x2x%x1 4'=4x3%x2x1,
IfEN=1'+21+3'+41+ .......... 15, show that N is not a perfect square.

Rough Work /&= %™



Q4 quaﬁ?ﬁﬁawﬁwwmso%wwwwmw mq—dﬁ?ﬁwaeﬁ%m

FACAT IFAT I A U hrel.

A cylinder is melted and a cone is prepared such that the diameter of the cone is 80%

of the diameter of the cylinder. Find the ratio of the height of the cylinder and the '
height of the cone.

— i — — — — — — —— — — — — — — — — — — — — — — — — — — —— — — t— — t— — — — — — — t— —

Rough Work /&= =m
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Q.5 AABC @1 e i [ (BC) = 6 a#t. wewm BE = g CF = 5.5 31, 5
Construct AABC such that ! (BC) = 6cm, median BE = median CF = 5.5 cm.
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Q.6 TEE AT TR B AT IRUHS FUITEIS! FHTe TR I FrEmedt. 60 TRt ST ey, war 4
T AN, e J&8 TUed = 2/3 9 aH §e AFTe. e ot B A foswmft 40 ffae
I DEefl. SR Ets war 90 ferft STat eumer avren v, @i dt B A faamft 20 fafie sefa
g ST, AR T T Yo e o feadt gran?

A car left a city A towards city B at a certain average speed. After covering a distance
of 60 km, due to bad road conditions, it had to travel at 2/3 of its original speed.
Hence it reached city B 40 minutes late. Had the car met bad road conditions after °
covering 90 km, it would have reached city B 20 minutes late. What was the initial
average speed of the car?
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Q.7  FEM 50 IguA SR o wlan fieht. fom v v dieaw €. e whda st s 3 o 4
firesm giq anfor gehean SaeETdt 1 77 St SR . ferrera foren fresreiean Tomfis 120
T BId. A WIed, O Arevara et w9 el o o ff weuned). fae weum sl g
$ = § TR fora.
Neha appeared for an examination and attempted all of the 50 multiple choice :
questions. Each correct answer was to gain 3 marks while each wrong answer would
lose 1 mark. The result card showed that she secured 120 marks. She immediately

said “the marks entered are wrong.”
State, with reasons, whether Neha’s conclusion was right or wrong.

Rough Work /&= &m



Q.S- x% — 3x + p M 222 + 5x + 3 A1 G Fdien ©w srae awrsw oM, @ p <t fhua Fre,

If the trinomials x2 — 3x + p and 2x2 + 5x + 8 have one factor in common, find value of
D.

Rough Work /&= %M



Q.9 T qed Sl G, ThATE TS TG SIToT SATHRUN hedtd, 3 a9t 50% 3 9Ted. Thi sab @ 5
Tgdta T G o TR 4 FutEret I y v 7 awtardl . Famgaaa:@ﬁaz;aﬂf:ﬁanﬁh
7 Uit T @ ST, T 2 SNy TehAT! TOITR T,

In a certain investment scheme, a certain sum at a certain rate of interest increases :
by 50% in three years when compounded annually. A person invested Rs x for 4
years and Rs y for 7 years in the scheme. He found that he received the same amounts
at the end of respective periods. Find the ratio of x and y.

Rough Work /&= %™



Q.10 IS IR Tk 18R Fre FHTES) It 311, ISR

M 1 _ 18571
HreaT 3T S AR fhua Fer. » el 14937
Each letter in the adjacent sum is used for different g - :
digit. Solve the sum and find the value of each letter. H+ 1
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Q.11 - awﬁai@PQn%@RsniéBcu;i@SDll%@QT | @ 5
AB 371fo1 3@ RT|| 7@ PD|| Y@ AC. T armiiciiet fepror=h,

P Q i i o et s e e, S
el 1<l TEAT Tl S 37T ?

R S In the adjoing figure, seg PQIll seg BC || seg RS;

seg SD|| seg QT Il seg AB and seg RT|| seg PD|| seg

AC. How many triangles, parallelograms and

B T D C trapeziums are there in the figure? Which of them

are maximum?

Rough Work /&= &m
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Q.12 755 1 Gl NI T 9 T T AUTAT i I T IR 81 ? : 3

Write the number formed by the digit at tens place and at the units place of the
number 7°9.

Rough Work /#= sm
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Q.13 a,b,c,dm'errw'w:m%a.a,bwﬁcﬁmdn@ﬁMRN‘aﬁmﬁzﬁ. b, ¢ 3IfT 6
d = Tl o 7R frasaell 19 & v . ¢, d i1 o = gt b & g feast @«

21 € F&1 4. d, o 207 b il wrd onfir ¢ Fieh 909 25 A9, W a, b, ¢ M d = R

F1al. :

a, b, ¢, d are numbers. The sum of d and the average of a, b, cis 37. The average of b,
cand d is added to a, we get 19. The average of ¢, d and a is added to b, we get 21. The
sum of ¢ and the average of d, @ and b is 25. Find a, b, c, d.

Rough Work /&= &m
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Q.14 (CUT)2=TIGHT I1 3ee0TTa Sermiastt 378 aTatelt 31, wammmw AR, 6

(CUT)2=TIGHT. In this example letters are used for digits. The same letters denote
the same digits and different letters denote different digits. Find the value of each

letter and write the sum in digits.
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Rough Work /&= &M

14



Q15 GWWWW@AABCWWQETW@WW% Q IR AABC =11 6
T SISO @ ZThell, A o1 §d aiere sl s foheft ?

Q is any point in the interior of an equilateral AABC having side 6 cm. Perpendiculars
are drawn to each side of AABC from the point Q. Find the sum of lengths of all
perpendiculars.

Rough Work /&= &m
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Q16 P S 9w gl [IPQRS & /a d [(PS) = 58w,
1 (PQ) = 48w =15 PS e T &1 37 forg viten i @ TR
¥ £QTS =1 guTSRh 8. '

In the adjacent figure, (LIPQRS is a reétangle. 1 (PS)=

: 5cm, | (PQ) = 4cm. Find the point T on the side PS such
Q R that segment TR is the bisector of LQTS.

Rough Work /&= =m
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Q.17 TSRS 4P L 999 + 100°) 71 TR 4 3 TFTITER WK ST FaT. 6
Find the remainder when (12 + 25+ 3%+ 4%+ ... 999 + 1009) is divided by 4.

Rough Work /&= &m
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Q18 < Serie ey oty ih A 592 ST FT B 518 R, R N A Ferh
9 296 S T T TE&IT T ?

The sum and difference of the LCM and GCD of two numbers is 592 and 518
respectively. If the sum of the two numbers is 296, find the numbers.

Rough Work /&= %™
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Q.'19 IR AATATHRS 3R 8 W, 10 g, 100 Wl & 5 fRt arsft Hiewam w 9. @ ufvs fim 7
T AT FhT T AMICATREIT Taheh T $aR AT fomt @ e Teehroiaes STaaied

Tl Tt Fobma T FTedt. SR s A R 100 $99 SR @ SR Tl T fa
fomeft Bt ? :

Four merchants were close friends. One of them had 8 rubies, the other had 10
saphires, the third had 100 pearls and the fourth friend had 5 diamonds. Each of
them gave one gem to each of his friends. Hence the cost of the gems each one
possessed became equal. If the cost of a pearl was Rs. 100/-. what was the cost of
each ruby, saphire and diamond?

Rough Work /&= &m
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Q.20 T wTeea g R TR, @i 10% forede g« daes ol e, @ e 7
10%ﬁmwmwmmﬁwm.mmmmﬁm-
frreta onfer qroft = s fedt o ? :

A bottle contains pure glycerin. 10% of it was taken out from the bottle and the same
volume of water was added to the bottle. Again 10% of the mixture was taken out
from the bottle and the same volume of water was added to the bottle. The same
procedure was repeated one more time. What was the ratio of remaining glycerin
and water in the bottle?

Rough Work /&= &™
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